Lesson 99- Algebraic (Substitution).notebook May 01, 2018

Lesson 99 Objective: SWBAT understand and determine
limits algebraically by substituting. % 3 2
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Direct Substitution and you get a whole number, fraction or decimal.
> Means the function is continuous and has no holes or asymptotes at that value.

b) lij g(x) < W How to Solve: Plug in the value directly into the function and the result is your answer.
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4 Direct Substltutlon and you et 0/0
3) lim » Means the function has a hole at that value.
x4 16x + 63
S How to Solve: Factor and cancel, and then plug the number into the simplified version
"""" L Example #1:
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